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π1(spec(Fp)) = Z ↔ π1(S
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I Artin-Verdier dualiteit (± 1960)

I H r
et(spec(Z), F )× Ext3−r

spec(Z)(F , Gm) →
H3

et(spec(Z), F ) ' Q/Z
I spec(Z) is 3-dimensionale manifold

I Hermite-Minkowski (± 1860)

I p|discr(Z[ζ]/Z) ⇒ p vertakt

I π1(spec(Z)) = 1
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I spec(Fp) ↔ knoopp

I π1(spec(Z)− {p}) ↔ π1(S
3 − knoopp)

I p 6= q dan ook knoopp 6= knoopq
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link-getal

lk(rood , blauw) = lk(blauw , rood) = 1
2

∑
±1



Legendre symbool(
p
q

)
=

{
1 : p is kwadraat modulo q

−1 : anders

(−1)lk(knoopp,knoopq) =
(

p
q

)



(−1)µ(knoopp,knoopq,knoopr ) = [p, q, r ]
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